DOCK SCREW LEGS & WHEEL-IN KITS

Shore End Wheel Kit

Instructions
Part #: 1006679

Parts List
ITEM | QTY [ PART NUMBER DESCRIPTION
1 2 (1003789 Wdmt Pocket Short Single Leg 8.0 - Infinity
2 2 11003800 Wdmt Coupler Axle
3 2 (1007829 Poly Wheel
4 4 11015730 Bushing 2.0ID x 3.0 x 18Ga Zinc
5 2 1002569 Pin Cotter 1/4 x 2.5 SS
6 6 [1001793 Nut Square 1/2-13 Brass
7 6 [1002558 Set Screw 1/2-13 x 1.5 SS 304 Cup Point
8 4 (1001956 Bolt Carriage 3/8-16 x 1.0 SS 304
9 4 [1001802 Nut Flange 3/8-16 Brass

Failure to follow instructions may
result in personal injury and may
invalidate the applicable warranty.

Step 1. Attach wdmt pocket to dock frame
using one 3/8 x 1 Carriage Bolt and one
3/8 flange nut on both flanges of wdmt
pocket.

Step 2. Insert Dock Leg Post into wdmt
pocket. Secure by inserting 1/2 square nut
into nut clip on wdmt pocket, then
threading 1/2 x 1-1/2 set screws into
square nuts.

Step 3. Attach wdmt coupler axle to dock Dock Leg Post
leg post. Secure by inserting 1/2 square

nut into nut clip on wdmt coupler axle and

threading 1/2 x 1-1/2 set screw into square

nut.

Step 4. Slide on one bushing 2 x 3

bushing, the poly wheel, then a second <
bushing onto the axle of the wdmt coupler 0
axle. Finish by inserting cotter pin into axle. Vs

SHOREMASTER.COM 1IN





